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No Supplementary answer-book will be given to any candidare.‘""f??'?‘.-fe ’h‘? candidate should write their
answers precisely in the main answer-book only. O,
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All the parts of one question should be answered at one place in the answer-book. .Oﬂg?ﬁb‘amplere question
should not be answered at different place in the answer-book. .
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Write your roll number on question paper before start writing answers of questions.
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Attempt four questions from Part-11, selecting atleast one question from each section.
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Part-1 is compulsory to attempt.
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PART-1 /4111
1. Answer the following questions in brief - . [1x9=9]
PrefiRad wei & wag ¥ SR ARA —
Who coined the term “Ecosystem” and when?
gPRrET TR e R R
(ii Define the term “Ecotone”.
"gHEE” T 3 afarr R |
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(iii What xs the significance of Rhizobium bacteria?
ws\'ﬂ‘rﬁrm faaé‘rﬁm &1 99T HE<d 87
(iv Define nel pnmary productivity.
A wIgHd u’i@ﬁfﬁﬁt‘i ?ﬁr afRurar SRR |
\)/ What do you mean by hydroserc"
"B’ W T & Wﬁlﬂ &
O/ Enlist any four gases which enhanée green- -house effect.
WWW@WWMWW%WWI
(vii)/ Write names of two energy sources whlch: gg_:g..non-pollutmg, renewable and

easily available.

9 Q) Folf Eal d T ford St ygyud, Hﬁﬂmmﬁm
B €|
(viiy) Define Ozone hole.
3 fow @ aRere AR |
(ix What do you understand by the term ‘Directional Selection’?
fedfa @ ¥ ST T sifvwra @7
PART-II /91111
SECTION-A/@vs—3]

Describe the Nitrogen cycle in detail. Highlight the role of microbes in nitrogen cycle. [4+2=6]
AgeioH o @l faR ¥ aofF B | AsgieE wp 7 ofarRit @ qfier

w1 S1fery | |

Write short notes on - [2+2+2=6]
(i) Food chain

(ii) Trophic levels

(iii)  Energy flow in an ecosystem

frafefaa w o forRag —

() @ yEen

(i) 99T ®R

(i) wRRf T § St yarE

Describe the factors responsible for affecting population density in an ecosystem. [6]

aRRARI &1 ¥ S we @ IRT FRA a9 FRDI BT fAdET R |
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SECTION-B/@vs—4

‘V Describe the @&és'-and possible remedies for air pollutioh. 6]
qR] WSO B BRI afri mﬁﬁa Surat &1 fawer AR |
6. Write a note on - : [3+3=6]

(i)  Atmospheric layers

(i)  Global warming

e ford -
(i) argHeeny uRd
(i)  Toliaet AT '
7. Write an esséy on the ‘trends in urbanization in Ir'idi‘.é_,._"i;gqses, problems and their
solution’. : ‘i?' _ © [6]
v e fory — c*d Fo
AR H TTAGROT B wgfRraf, R, W@" 3R et e f

SECTION-F/avs—w
‘V Write notes on - i [3+3=6]
(1) Faunal diversity of Indo-Malayan region
(i)  Desert adaptations in animals '
e ford — ,
) SR 4 A R o
(i)  igel ¥ wReerehy SrRe ~
9. Explain the concept of species. Write a detatqu;l note on mechanisms of speciation. [2+4=6]
iRt < s @ e | T S PR < s o g o R
10. In a population of rabbits, the frequency of the recessive allele for a/specific coat
color trait is 0.3. According to the Hardy-Weinberg equilibrium, calculate the
following - Pilde : [6]
(i) The frequency of the dominant allele.
(i)  The percentage of rabbits that are heterozygous for this coat color trait.
Rt A v wAfe ¥ g e Fie @1 o F s gEea (@) o
IRt 0.3 mm—mﬁmaﬁmiﬁwﬁﬁaaﬁmﬁ-
(i)  wEr s 9 amafy | p.‘
(i) WWWW*W%@W@?Mmml
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